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( Multidisciplinary Course )
Paper : MDC0100203
( Foundations of Mathematical Sciences—I )
Full Marks : 45
Time : 2 hours

The figures in the margin indicate full marks
Jor the questions

Ansuwer either in English or in Assamese

1. Answer the following as directed : 1x5=5
oo faPHR ot SpiR Te’ w1 ¢
(@) Is 571 a prime number?

571 9o CRifere IR [ 2

(b) What is the least value of k, so that
the number 6735kl is divisible by 9?
k 9 SRS 39 & T91 T 6735k1 SRNTH!
91 Remy 232

() The binary equivalent of the decimal
number 117 is

(Fill in the blank)

PIRE R 1173 09O WG RO
| | (X1 37 7 F90)

—
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(2)

(d) The average of x numbers is Sx. If x -2

() What is meant by statistical data?
AR oY = [ 2
2. Answer any five parts :
R e #ivbr Tey F :
(a) Find :
forean :
11111+10001+1011="?
(b) If 16% of 40% of a number is 8, then
find the number.
M B RAE 40%I 16% TH 8, (%I
FRH! B |
(c) Find 2log37 _7log3 2.
2087 _ 71983 23 i Bferea |
(d) Two numbers are respectively 32% and
20% less than a third number. What
~ percent is the first of the second?
w1 TR G5 PO RYGLF FA 32% AF
20% 29 | ROWER eaed! R *ror 2
A25/282 ( Continued )

subtracted from each given number,
then what is the new average?

x TRYR O 5x. qf far T Ao R
o1 x —2 Ram a1 =, o8 79 1% R 2

2x5=10

fe)

(9)

H)

i

)]
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(3)

The sum of the ages of A and B is
42 years. 3 years back, the age of A was
5 times the age of B. Find the difference
between the present ages of A and B.
AYF BI R @A5FA T 42 A1 3 T
TS AT I BI IR 5 81 W | A AF
B3 T9YW TPH e el ol Bferer |

The minute hand of a clock overtakes
the hour hand at intervals of
65 minutes. How much in a day does
the clock gain or lose?

¥ b RRS FHRR 65 ARG IS I
IR SR 77 | TROW TS RaE =TS
1 PO FCY 7

Define statistics as a branch of science.

AR R b1 1 s w@fe =1 |

Distinguish between qualitative and
quantitative data.
@IS OTF “IRF157S YT TS N1 o |

Obtain the median of the followmg
frequency distribution :

FafeRe I~ Regar 149 Shier -

x @ 1 2 3 4 ) 6 7 8
f : 8 10 11 16 20 25 15 9
Define harmonic mean. When are AM,
GM and HM in any series equal?
Taufye R e a1 o R e e
AM, GM ¥F HM WH ¥} ?

9
6
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3. Answer any four parts :

(4)

R e oifRer T 1
(a) The average weight of 24 students of

)

(c)

@

A25/282

section A of a class is 58 kg whereas
the average weight of 26 students of
section B of the same class is 60-5 kg.
Find the average weight of all the
50 students of the class.

@1 T A R 2497F FEFR 1T eww
58 kg UF & CAR B *INA 2659
e oSS 60-5 kg CIAWGR SWwcen
S0sHIS PR o1 @o Ay 1 |

Describe the methods of collection of
primary data.
AARNF O T AROER I F0 |

Given two numbers which are in the
ratio of 3:4. If 8 is added to each of
them, their ratio is changed to 5:6.

. Find the two numbers.

W 1B TRYR TS 3:4. M ASBR
TS 8 Q@9 T W, (9@ KA PR FArS
@ =W 5: 6. FRIN BRI Sfered |
Explain the following terms :
wors Rl IR IR 0
(i) Histogram

2@’

(i) Frequency distribution
FeoIgeE oA

{ Continued )

5x4=20

(e)

(9

)
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(5)

A is thrice as good as B and so A can
finish a piece of work in 60 days less
than B. Find the time, if they can do
the work together.

A T’ BYF 3 ¥ o 9F G A 90l
IN Bolw 60 fats ¥ e S IRI
e | 3 T Geeres FICH! I, (S0 R
S FICHT o FRI 2

Define weighted mean. Show that the
sum of squares of the deviations of
a set of values is minimum when

taken about mean. 1+4=5

SEAYE ST K fRar 1 oryem @ 1% B
CTRT @b R Rpfer 1w o=
S = |

Briefly write about the importance of

statistics in any two different sectors
or disciplines. List any.two limitations

of statistics. 3+2=5

R @ o Ra qe 1 RS APRIN
G Recw syi foran 1 =iReams R e o1
aFy| TRz & 32

A cistern is normally filled with water
in 10 hours, but takes 5 hours longer
to fill because of a leak in its bottom.
If the cistern is full, then the leak will
empty the cistern in how many hours?
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(7))

(6)
B! TENR MYRGCS 10 ¥HR foowe NI (p) (i) Find the volume and the total
surface area of a triangular prism
R d | e TR oo T FOT W WS whose height is 30 m and the
SR SRAE 5 w61 TR wRF @ | W sides of whose base are 21 m,
SR SR 4IF, (98GR FOROE R 20 m and 13 m respectively. 5
IOR Rrots weeRe! 39 FRT 1Rk ? <o1 feey e Swel 30 m WE

o A" ¥ 21 m, 20 m w®
13 m. PombR wWed wWF TP P

4. Answer any one part : 10 e Sfe |
R e @b TeT 0 | () Chennai is at a distance of 560 km
. . TR ‘ from Mumbai. A train starts from
a) Given below is the distribution of : \ . A
“ 140 students obtaining marks X or Mumbai to Chennai at 6:00 a.m.
) . . ination : with speed of 40 km/hr. Another
higher in a certain examin b train starts from Chennai to
<51 fifig “Rwre X A oreE ST T TS Mumbai at 7:00 a.m. with speed of
et R3] TS il (=R ¢ 60 km/hr. At what distance from
90 140 & Mumbai and at what time will
X More than (9RF) c. f. the two trains be at the point of
10 140 crossing? 5
20 - 133 BRI SIF THIXI M&F {9 560 km. 99
30 118 @@ TR A GWiXA 40 km/hr
40 - 100 , RIS 6:00 a.m.® I TS IR |
50 75 ' IH 9\ @ oAl [T iR
60 ‘2‘2 | | 60 km/hr sf¥%39® 7:00 a.m's I
70 o RS IR | THA [T R[S wF
Zg ” R TS @@ 737 AR =2
100 0 (¢) () What will be the amount if a sum
th di d mode 9f T 5,000 is placed at compound
Calcula!:e e mean, mecdian an interest for 3 years while the rates
of the distribution. 10 of interest for 1lst year, 2nd year
_ respectively? S
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(8)

5000 Bl TEJfa To° o =TT “I2®
AW ¢l @, IR SH, T HF oF
IET TE [N W FA 2%, 3% O
4% T ?

@ 1
log(x—y)-logs—%logx-—;-logy=o

then find the value of = +¥

y x
L
log(x-y)-log5—%10gx—%logy=0

@@ X + L M e
y x

(d () A starts a business with 3,500
and after 5 months B joins with A
as his partner. After a year, the
profit is divided in the ratio 2:3.
What is B's contribution in the
capital? 5
AG 3,500 B3 <1 JPTH =S PR
oF 5 N[ RS BA A3 S SN
Rowe JPTMHS @M I | G
IS A T 2:3 TAES Sl
= | [A4TS BT S P wifEe 2

(i) Write the merits and demerits of
median. 5
TR @S GO o |
* % ¥
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